



# A law of the iterated logarithm for discrepancies: non-constant limsup

Fukuyama, Katusi

---

(Citation)

Monatshefte für Mathematik, 160(2):143-149

(Issue Date)

2010-05

(Resource Type)

journal article

(Version)

Accepted Manuscript

(Rights)

©Springer Verlag 2008. The final publication is available at Springer via <http://dx.doi.org/10.1007/s00605-008-0062-2>

(URL)

<https://hdl.handle.net/20.500.14094/90003845>



# A LAW OF THE ITERATED LOGARITHM FOR DISCREPANCIES: NON-CONSTANT LIMSUP

KATUJI FUKUYAMA (KOBE)

## ABSTRACT

We prove the existence of a sequence  $\{n_k x\}$  whose discrepancies obey a bounded law of the iterated logarithm with a non-constant limsup.

## 1. INTRODUCTION

Let us define the discrepancies  $D_N$  and  $D_N^*$  of a sequence  $\{x_k\}$  of real numbers by

$$D_N\{x_k\} = \sup_{0 \leq a' < a < 1} \left| \frac{1}{N} \sum_{k=1}^N \tilde{\mathbf{1}}_{a',a}(\langle x_k \rangle) \right|; \quad D_N^*\{x_k\} = \sup_{0 \leq a < 1} \left| \frac{1}{N} \sum_{k=1}^N \tilde{\mathbf{1}}_{0,a}(\langle x_k \rangle) \right|,$$

where  $\tilde{\mathbf{1}}_{a',a}(x) = \mathbf{1}_{[a',a)}(x) - (a - a')$ ,  $\mathbf{1}_{[a',a)}$  denotes the indicator function of  $[a', a)$  and  $\langle x \rangle$  denotes the fractional part  $x - [x]$  of  $x$ .

For  $\{n_k\}$  with exponential growth  $n_{k+1}/n_k > q > 1$ , Philipp [13, 14] proved the following bounded law of the iterated logarithm

$$\frac{1}{4\sqrt{2}} < \overline{\lim}_{N \rightarrow \infty} \frac{ND_N\{n_k x\}}{\sqrt{2N \log \log N}} \leq C < \infty, \quad \text{a.e.} \quad (1)$$

The result was extended to the case of sub-exponential growth by Berkes, Philipp, and Tichy [15, 3] assuming some extra conditions. The limsup in (1) is explicitly calculated only in a few cases: the case when  $n_{k+1}/n_k \rightarrow \infty$  [6, 4, 8]; the case when  $n_k = \theta^k$  for  $\theta > 1$  [12, 7]; the case when  $\{n_k\}$  is a Hardy-Littlewood-Pólya sequence [9]. As is pointed out by Aistleitner and Berkes [1, 2], it is not known if the limsup in (1) is a constant almost everywhere.

In this paper we show the existence of a sequence  $\{n_k\}$  of linear growth which obeys a bounded law of the iterated logarithm

$$0 < C_1 \leq \overline{\lim}_{N \rightarrow \infty} \frac{ND_N\{n_k x\}}{\sqrt{2N \log \log N}} \leq C_2 < \infty, \quad \text{a.e.}, \quad (2)$$

---

Keywords: discrepancy, law of the iterated logarithm.

Subject class: Primary 11K38, 42A55, 60F15.

The author was supported in part by the Grant-in-Aid for Scientific Research (B) 17340029 from JSPS.

and the limsup in (2) is not a constant a.e.

For a given strictly increasing sequence  $\{n_k\}$  of positive integers, denote by  $\{n_k^\circ\}$  the arrangement in increasing order of  $\mathbf{N} \setminus \{n_k\}$ .

**Theorem 1.** *There exists a strictly increasing sequence  $\{n_k\}$  of positive integers satisfying  $n_{k+1} - n_k \leq 5$  and  $n_{k+1}^\circ - n_k^\circ \leq 5$  such that*

$$\begin{aligned} \overline{\lim}_{N \rightarrow \infty} \frac{ND_N\{n_k x\}}{\sqrt{2N \log \log N}} &= \overline{\lim}_{N \rightarrow \infty} \frac{ND_N^*\{n_k x\}}{\sqrt{2N \log \log N}} = \sigma(x) \quad \text{a.e. } x, \\ \overline{\lim}_{N \rightarrow \infty} \frac{ND_N\{n_k^\circ x\}}{\sqrt{2N \log \log N}} &= \overline{\lim}_{N \rightarrow \infty} \frac{ND_N^*\{n_k^\circ x\}}{\sqrt{2N \log \log N}} = \sigma(x) \quad \text{a.e. } x, \end{aligned}$$

where

$$\sigma^2(x) = (4x\mathbf{1}_{[0,1/4)}(x) + \mathbf{1}_{[1/4,3/4)}(x) + 4(1-x)\mathbf{1}_{[3/4,1)}(x))/9 + 1/24. \quad (3)$$

We use a method of random series which originated with Salem-Zygmund [16] and Bobkov-Götze [5].

## 2. PROOF

Let  $J = \{-1, 1\}^3 \setminus \{(1, 1, 1), (-1, -1, -1)\}$  and  $\{\xi_n\}_{n=1}^\infty$  be a  $J$ -valued i.i.d. such that  $\xi_n$  is uniformly distributed over  $J$ . We define the sequence  $\{X_n\}$  of random variables by  $(X_{3n-2}, X_{3n-1}, X_{3n}) = \xi_n$  ( $n \in \mathbf{N}$ ). Clearly  $\{X_{3n-2}\}_{n=1}^\infty$ ,  $\{X_{3n-1}\}_{n=1}^\infty$ , and  $\{X_{3n}\}_{n=1}^\infty$  are fair  $\{-1, 1\}$ -valued i.i.d.

Denote  $\mathbf{1}_{[a',a)}(\langle kx \rangle)$  and  $\tilde{\mathbf{1}}_{[a',a)}(\langle kx \rangle)$  simply by  $\mathbf{1}_{[a',a)}\langle kx \rangle$  and  $\tilde{\mathbf{1}}_{[a',a)}\langle kx \rangle$ . Put  $i_k = \tilde{\mathbf{1}}_{[a',a)}\langle kx \rangle$ ,  $Y_k = i_{3k-2}X_{3k-2} + i_{3k-1}X_{3k-1} + i_{3k}X_{3k}$ ,  $r(x, a) = \int_0^1 \tilde{\mathbf{1}}_{[0,a)}\langle y \rangle \tilde{\mathbf{1}}_{[0,a)}\langle y - x \rangle dy$ , and  $\varphi(x) = \sqrt{2x \log \log x}$ .

**Lemma 2.** *For  $x \notin \mathbf{Q}$ , we have*

$$\frac{1}{3N} \sum_{k=1}^N EY_k^2 \rightarrow \sigma^2(x, a - a'), \quad (4)$$

where  $\sigma^2(x, a) = r(0, a) - 4r(x, a)/9 - 2r(2x, a)/9$ . The function  $\sigma^2(x, a)$  is continuous in  $(x, a)$  and satisfies

$$\sigma^2(x, a) = \sigma^2(1 - x, a). \quad (5)$$

*Proof:* By  $EX_n = 0$ ,  $EX_n^2 = 1$ , and  $EX_{3n-2}X_{3n-1} = EX_{3n-2}X_{3n} = EX_{3n-1}X_{3n} = -1/3$ , we have

$$EY_k^2 = i_{3k-2}^2 + i_{3k-1}^2 + i_{3k}^2 - \frac{2}{3}i_{3k-2}i_{3k-1} - \frac{2}{3}i_{3k-1}i_{3k} - \frac{2}{3}i_{3k-2}i_{3k}.$$

Since the sequence  $\{3kx\}$  is uniformly distributed mod 1, we have

$$\begin{aligned} \frac{1}{N} \sum_{k=1}^N i_{3k-2} i_{3k} &= \frac{1}{N} \sum_{k=1}^N \tilde{\mathbf{1}}_{[a',a)} \langle (3k-2)x \rangle \tilde{\mathbf{1}}_{[a',a)} \langle 3kx \rangle \\ &\rightarrow \int_0^1 \tilde{\mathbf{1}}_{[a',a)} \langle y-2x \rangle \tilde{\mathbf{1}}_{[a',a)} \langle y \rangle dy = \int_0^1 \tilde{\mathbf{1}}_{[0,a-a')} \langle y-2x \rangle \tilde{\mathbf{1}}_{[0,a-a')} \langle y \rangle dy. \end{aligned}$$

In the same way, we have

$$\frac{1}{N} \sum_{k=1}^N i_{3k-j} i_{3k-j-1} \rightarrow r(x, a-a') \quad \text{and} \quad \frac{1}{N} \sum_{k=1}^N i_{3k-j}^2 \rightarrow r(0, a-a')$$

for  $j = 0, 1, 2$ . Therefore we have (4).

Continuity of  $\sigma^2(x, a)$  is clear. By changing variable, we have

$$\int_0^1 \tilde{\mathbf{1}}_{[0,a)} \langle y+x \rangle \tilde{\mathbf{1}}_{[0,a)} \langle y \rangle dy = \int_0^1 \tilde{\mathbf{1}}_{[0,a)} \langle y \rangle \tilde{\mathbf{1}}_{[0,a)} \langle y-x \rangle dy,$$

or  $r(-x, a) = r(x, a)$ . Hence  $\sigma^2(x, a)$  is an even function of  $x$  with period one, and thereby we have (5).  $\square$

**Lemma 3.** For  $x \notin \mathbf{Q}$ , we have

$$\sigma^2(x) = \max_{0 \leq a < 1} \sigma^2(x, a)/2 = \max_{0 \leq a \leq 1/2} \sigma^2(x, a)/2. \quad (6)$$

$\sigma^2(x, a) = 0$  implies  $a = 0$ .

*Proof:* Put  $m(x) = x \wedge (1-x)$  and  $M(x) = x \vee (1-x)$ .  $m(x) \leq 1/2 \leq M(x)$  is clear. For  $a, x \in [0, 1)$ , we have

$$r(x, a) = \begin{cases} -a^2 & 0 \leq a \leq m(x) \\ a - a^2 - m(x) & m(x) \leq a \leq M(x) \\ -(1-a)^2 & M(x) \leq a < 1. \end{cases} \quad (7)$$

We prove this in the case  $x \leq 1/2$  or  $m(x) = x$ . The other case can be proved by using (5). Note that  $r(x, a) + a^2 = \int_0^1 \mathbf{1}_{[0,a)} \langle y-x \rangle \mathbf{1}_{[0,a)} \langle y \rangle dy$  equals to the measure of  $A_x = [0, a) \cap ([0, a) + x \bmod 1)$ . We can easily see that  $A_x = \emptyset$  if  $0 \leq a \leq x$ ,  $A_x = [x, a)$  if  $x \leq a \leq 1-x$ , and  $A_x = [0, a+x-1) \cup [x, a)$  if  $1-x \leq a < 1$ . (7) is verified by calculating the measure of  $A_x$ . Especially, we have  $r(0, a) = a - a^2$ .

By (5), it is sufficient to prove (6) for  $x \in [0, 1/2]$ . The second equality of (6) follows from  $r(x, a) = r(x, 1-a)$  which is clear from (7).

By using (7), we calculate  $9\sigma^2(x, a)$  for  $a, x \in [0, 1/2]$ .

If  $0 \leq x \leq 1/4$ , by noting  $0 \leq m(x) = x \leq m(2x) = 2x \leq 1/2$ , we have  $9\sigma^2(x, a) = 9a - 3a^2$  on  $[0, x)$ ,  $9\sigma^2(x, a) = 5a - 3a^2 + 4x$  on  $[x, 2x)$ , and  $9\sigma^2(x, a) = 3a - 3a^2 + 8x$  on  $[2x, 1/2]$ .

If  $1/4 \leq x \leq 1/3$ , by noting  $0 \leq m(x) = x \leq m(2x) = 1 - 2x \leq 1/2$ , we have  $9\sigma^2(x, a) = 9a - 3a^2$  on  $[0, x)$ ,  $9\sigma^2(x, a) = 5a - 3a^2 + 4x$  on  $[x, 1 - 2x)$ , and  $9\sigma^2(x, a) = 3a - 3a^2 + 2$  on  $[1 - 2x, 1/2)$ .

If  $1/3 \leq x \leq 1/2$ , by noting  $0 \leq m(2x) = 1 - 2x \leq m(x) = x \leq 1/2$ , we have  $9\sigma^2(x, a) = 9a - 3a^2$  on  $[0, 1 - 2x)$ ,  $9\sigma^2(x, a) = 7a - 3a^2 - 4x + 2$  on  $[1 - 2x, x)$ , and  $9\sigma^2(x, a) = 3a - 3a^2 + 2$  on  $[x, 1/2)$ .

By differentiating by  $a$ , we have  $(9a - 3a^2)' = 9 - 6a > 0$ ,  $(5a - 3a^2 + 4x)' = 5 - 6a > 0$ ,  $(7a - 3a^2 - 4x + 2)' = 7 - 6a > 0$ ,  $(3a - 3a^2 + 4x)' = (3a - 3a^2 + 2)' = 3 - 6a > 0$  for  $a \in [0, 1/2)$ . Hence  $9\sigma^2(x, a)$  strictly increases in  $a \in [0, 1/2]$  and takes its maximum at  $a = 1/2$ . Hence (6) is proved. Clearly  $\sigma^2(x, a) = 0$  only for  $a = 0$ .  $\square$

**Lemma 4.** For  $l \in \mathbf{N}$ ,  $i < 2^l$ , and  $x \notin \mathbf{Q}$ , we have

$$\overline{\lim}_{N \rightarrow \infty} \frac{1}{\varphi(N)} \sup_{a < 2^{-l}} \left| \sum_{k=1}^N \tilde{\mathbf{1}}_{[2^{-l}i, 2^{-l}i+a)} \langle kx \rangle X_k \right| \leq 6 \cdot 2^{-l/2} \quad a.s.$$

*Proof:* Take an integer  $N$  and  $\lambda > 0$  arbitrarily and denote

$$\tilde{S}_N = \max_{n \leq N} \sup_{a < 2^{-l}} \sum_{k=1}^n \mathbf{1}_{[2^{-l}i, 2^{-l}i+a)} \langle 3kx \rangle X_{3k}, \quad b_N = \sum_{k=1}^N \mathbf{1}_{[2^{-l}i, 2^{-l}(i+1))} \langle 3kx \rangle.$$

Define  $k_1, \dots, k_M$  by  $\{3k_1, 3k_2, \dots, 3k_M\} = \{3k \leq N \mid \langle 3kx \rangle \in [2^{-l}i, 2^{-l}(i+1))\}$  and  $\langle 3k_1x \rangle < \langle 3k_2x \rangle < \dots < \langle 3k_Mx \rangle$ . By putting  $J_{m,n} = \{j \leq m \mid 3k_j \leq n\}$  and  $S_{m,n} = \sum_{j \in J_{m,n}} X_{3k_j}$ , we have  $\tilde{S}_N = \max_{n \leq N} \max_{m \leq M} S_{m,n}$ . Defining random variables  $n_0$  and  $m_0$  by  $n_0 = \min\{n; \max_{m \leq M} S_{m,n} > \lambda\}$  and  $m_0 = \min\{m; S_{m,n_0} > \lambda\}$ , we have a disjoint decomposition  $\{\tilde{S}_N > \lambda\} = \bigcup_{n \leq N} \bigcup_{m \leq M} C_{n,m}$  where  $C_{n,m} = \{n_0 = n, m_0 = m\}$ . Since  $C_{n,m}$  belongs to the sigma field generated by  $X_{3k_j}$  ( $3k_j \leq n$ ), it is independent of  $S_{m,N} - S_{m,n}$  which is a function of  $X_{3k_j}$  ( $3k_j > n$ ). Hence by noting  $P(S_{m,N} - S_{m,n} \geq 0) \geq 1/2$ , we have

$$\begin{aligned} P(C_{n,m}) &\leq 2P(C_{n,m} \cap \{S_{m,n} > \lambda\})P(S_{m,N} - S_{m,n} \geq 0) \\ &\leq 2P(C_{n,m} \cap \{S_{m,N} > \lambda\}) \leq 2P(C_{n,m} \cap \{\max_{m' \leq M} S_{m',N} > \lambda\}). \end{aligned}$$

By summing for  $n \leq N$  and  $m \leq M$ , we have

$$\begin{aligned} P(\tilde{S}_N > \lambda) &\leq 2P(\tilde{S}_N > \lambda, \max_{m' \leq M} S_{m',N} > \lambda) = 2P(\max_{m' \leq M} S_{m',N} > \lambda) \\ &\leq 4P(S_{M,N} > \lambda) = 4P\left(\sum_{k=1}^N \mathbf{1}_{[2^{-l}i, 2^{-l}(i+1))} \langle 3kx \rangle X_{3k} > \lambda\right), \end{aligned}$$

where the last inequality is by reflection principle. For fair  $\pm 1$  valued i.i.d.  $\{Z_n\}$ , we have  $E \exp(t(Z_1 + \dots + Z_n)) \leq e^{nt^2/2}$  (Lemma 4.2.1 of [16]), which implies  $P(|Z_1 + \dots + Z_n| \geq \mu) \leq 2 \exp(-\mu^2/2n)$ . By applying this we have  $P(|\tilde{S}_N| > \lambda) \leq 8 \exp(-\lambda^2/2b_N)$ .

Thanks to  $b_N/N \rightarrow 2^{-l}$  we have  $b_N < 2N2^{-l}$  for large  $N$ , and hence  $P(|\tilde{S}_N| > \lambda) \leq 8 \exp(-\lambda^2/4N2^{-l})$ . By putting  $N = 2^j$  and  $\lambda = \sqrt{5 \cdot 2^j 2^{-l} \log \log 2^j}$  we have

$$\sum_j P(|\tilde{S}_{2^j}| > \sqrt{5 \cdot 2^j 2^{-l} \log \log 2^j}) \leq \sum_j 8(j \log 2)^{-5/4} < \infty.$$

By Borel-Cantelli Lemma, we see  $|\tilde{S}_{2^j}| \leq \sqrt{5 \cdot 2^j 2^{-l} \log \log 2^j}$  a.s. for large  $j$ , and hence

$$\overline{\lim}_{N \rightarrow \infty} \frac{1}{\varphi(N)} \sup_{a < 2^{-l}} \left| \sum_{k=1}^N \mathbf{1}_{[2^{-l}i, 2^{-l}i+a)} \langle 3kx \rangle X_{3k} \right| \leq \sqrt{10 \cdot 2^{-l}} \quad \text{a.s.}$$

It remains valid if we replace  $3k$  by  $3k-1$  or  $3k-2$ , and combining these, we have

$$\overline{\lim}_{N \rightarrow \infty} \frac{1}{\varphi(N)} \sup_{a < 2^{-l}} \left| \sum_{k=1}^N \mathbf{1}_{[2^{-l}i, 2^{-l}i+a)} \langle kx \rangle X_k \right| \leq \sqrt{30 \cdot 2^{-l}} \quad \text{a.s.}$$

By decomposing  $\sum_{k=1}^N X_k$  into the sum of  $\sum_{k \leq (N+2)/3} X_{3k-2}$ ,  $\sum_{k \leq (N+1)/3} X_{3k-1}$ , and  $\sum_{k \leq N/3} X_{3k}$ , and by applying the law of the iterated logarithm for each, we have

$$\overline{\lim}_{N \rightarrow \infty} \sup_{a < 2^{-l}} \frac{a}{\varphi(N)} \left| \sum_{k=1}^N X_k \right| \leq \overline{\lim}_{N \rightarrow \infty} \frac{2^{-l}}{\varphi(N)} \left| \sum_{k=1}^N X_k \right| \leq 2^{-l} \sqrt{3}.$$

By adding these we have the conclusion.  $\square$

**Lemma 5.** *For  $x \notin \mathbf{Q}$  and  $s = \pm 1$ , we have*

$$\overline{\lim}_{N \rightarrow \infty} \sup_{a < 1} \sum_{k=1}^N \frac{s \tilde{\mathbf{1}}_{[0,a)} \langle kx \rangle X_k}{\varphi(N)} = \overline{\lim}_{N \rightarrow \infty} \sup_{a' < a < 1} \sum_{k=1}^N \frac{s \tilde{\mathbf{1}}_{[a',a)} \langle kx \rangle X_k}{\varphi(N)} = \sqrt{2} \sigma(x) \quad \text{a.s.}$$

*Proof:* We prove for  $s = 1$ . The other case is proved in the same way. Denote  $\Sigma_{a',a}^{N,x} = \sum_{k=1}^N \tilde{\mathbf{1}}_{[a',a)} \langle kx \rangle X_k / \varphi(N)$ . Since  $\{Y_k\}$  is an independent sequence satisfying  $EY_k = 0$ ,  $|Y_k| \leq 3$ ,  $V_N = EY_1^2 + \dots + EY_N^2 \sim 3N\sigma^2(x, a - a') \rightarrow \infty$  ( $a' < a$ ), by the law of the iterated logarithm [11], we have  $\overline{\lim}_{N \rightarrow \infty} (Y_1 + \dots + Y_N) / \sqrt{2V_N \log \log V_N} = 1$  a.s. For

$a = a'$ , we have  $Y_k = 0$ . Hence  $\overline{\lim}_{N \rightarrow \infty} \Sigma_{a',a}^{N,x} = \sigma(x, a - a')$  a.s., and thereby

$$\overline{\lim}_{N \rightarrow \infty} \max_{j' < j < 2^l} \Sigma_{2^{-l}j', 2^{-l}j}^{N,x} = \overline{\lim}_{N \rightarrow \infty} \max_{j < 2^l} \Sigma_{0, 2^{-l}j}^{N,x} = \max_{j < 2^l} \sigma(x, 2^{-l}j) \quad \text{a.s.}$$

By taking limsup in

$$\max_{j < 2^l} \Sigma_{0, 2^{-l}j}^{N,x} \leq \sup_{a < 1} \Sigma_{0,a}^{N,x} \leq \sup_{a' < a < 1} \Sigma_{a',a}^{N,x} \leq \max_{j' < j < 2^l} \Sigma_{2^{-l}j', 2^{-l}j}^{N,x} + 2 \max_{i < 2^l} \sup_{a < 2^{-l}} |\Sigma_{2^{-l}i, 2^{-l}i+a}^{N,x}|,$$

we have

$$\max_{j < 2^l} \sigma(x, 2^{-l}j) \leq \overline{\lim}_{N \rightarrow \infty} \sup_{a < 1} \Sigma_{0,a}^{N,x} \leq \overline{\lim}_{N \rightarrow \infty} \sup_{a' < a < 1} \Sigma_{a',a}^{N,x} \leq \max_{j < 2^l} \sigma(x, 2^{-l}j) + 12 \cdot 2^{-l/2} \quad \text{a.s.}$$

By letting  $l \rightarrow \infty$ , we have the conclusion.  $\square$

By applying the result  $ND_N\{kx\} = O((\log N)(\log \log N)^{1+\varepsilon})$  a.e.  $x$  by Khintchine [10] together with Lemma 5 to

$$\begin{aligned} & \inf_{a < 1} \sum_{k=1}^N \tilde{\mathbf{1}}_{[0,a)}\langle kx \rangle \frac{1}{2} + \sup_{a < 1} \sum_{k=1}^N \tilde{\mathbf{1}}_{[0,a)}\langle kx \rangle \frac{sX_k}{2} \leq \sup_{a < 1} \sum_{k=1}^N \tilde{\mathbf{1}}_{[0,a)}\langle kx \rangle \frac{1 + sX_k}{2} \\ & \leq \sup_{a < 1} \sum_{k=1}^N \tilde{\mathbf{1}}_{[0,a)}\langle kx \rangle \frac{1}{2} + \sup_{a < 1} \sum_{k=1}^N \tilde{\mathbf{1}}_{[0,a)}\langle kx \rangle \frac{sX_k}{2} \quad (s = \pm 1), \end{aligned}$$

we have

$$\overline{\lim}_{N \rightarrow \infty} \frac{1}{\varphi(N)} \sup_{a < 1} \sum_{k=1}^N \tilde{\mathbf{1}}_{[0,a)}\langle kx \rangle \frac{1 + sX_k(\omega)}{2} = \sigma(x)/\sqrt{2} \quad \text{a.e. } (x, \omega).$$

It remains valid if we replace  $1 + sX_k(\omega)$  by  $-1 - sX_k(\omega)$ . Hence

$$\overline{\lim}_{N \rightarrow \infty} \frac{1}{\varphi(N)} \sup_{a < 1} \left| \sum_{k=1}^N \tilde{\mathbf{1}}_{[0,a)}\langle kx \rangle \frac{1 + sX_k(\omega)}{2} \right| = \sigma(x)/\sqrt{2} \quad \text{a.e. } (x, \omega).$$

The law of large numbers  $B_N = \sum_{k=1}^N (1 + sX_k(\omega))/2 \sim N/2$  a.s. implies

$$\overline{\lim}_{N \rightarrow \infty} \frac{1}{\varphi(B_N)} \sup_{a < 1} \left| \sum_{k=1}^N \tilde{\mathbf{1}}_{[0,a)}\langle kx \rangle \frac{1 + sX_k(\omega)}{2} \right| = \sigma(x) \quad (8)$$

for almost every  $(x, \omega)$ . By taking  $\omega$  which satisfies the formula (8) for a.e.  $x$ , and by denoting  $\{n_k\} = \{j \mid X_k(\omega) = 1\}$ , (8) with  $s = 1$  yields the law of the iterated logarithm for  $D_N^*\{n_k\}$ . The law for  $D_N\{n_k\}$  can be proved in the same way. (8) with  $s = -1$  yields the laws for  $\{n_k^\circ\}$ .

## REFERENCES

- [1] Aistleitner C (2007) On the law of the iterated logarithm for the discrepancy of  $\langle n_k x \rangle$  with multidimensional indices. *Uniform Distribution Theory* 2: 89-104
- [2] Aistleitner C, Berkes I (2008) On the law of the iterated logarithm for the discrepancy of  $\langle n_k x \rangle$ . *Monatsh Math*: (in press)
- [3] Berkes I, Philipp W, Tichy R (2006) Empirical processes in probabilistic number theory: The LIL for the discrepancy of  $(n_k \omega) \bmod 1$ . *Illinois Jour Math* 50: 107-145
- [4] Berkes I, Philipp W, Tichy R (2008) Metric discrepancy results for sequence  $\{n_k x\}$  and diophantine equations, *Diophantine Approximations*. Tichy R, Schlickewei H, Schmidt K (eds.) *Festschrift for Wolfgang Schmidt, Development in Mathematics* 17, Springer: 95-105
- [5] Bobkov S, Götze F (2007) Concentration inequalities and limit theorems for randomized sums. *Prob. Theory Related Fields* 137: 49-81
- [6] Dhompongsa S (1987) Almost sure invariance principles for the empirical process of lacunary sequences. *Acta Math Hungar* 49: 83-102
- [7] Fukuyama K (2008) The law of the iterated logarithm for discrepancies of  $\{\theta^n x\}$ . *Acta Math Hungar* 118: 155-170.
- [8] Fukuyama K (to appear) The law of the iterated logarithm for the discrepancies of a permutation of  $\{n_k x\}$ . *Acta Math Hungar*:
- [9] Fukuyama K, Nakata K (to appear) A metric discrepancy result for the Hardy-Littlewood-Pólya sequences. *Monatsh Math*:
- [10] Khintchine A (1924) Einige Sätze über Kettenbrüche, mit Anwendungen auf die Theorie der Diophantischen Approximationen. *Math Ann* 92: 115-125
- [11] Kolmogoroff A (1929) Über das Gesetz des iterierten Logarithmus. *Math Ann* 101: 126-135
- [12] Philipp W (1971) Mixing sequences of random variables and probabilistic number theory. *Memoirs Amer Math Soc* 111
- [13] Philipp W (1975) Limit theorems for lacunary series and uniform distribution mod 1. *Acta Arith* 26: 241-251
- [14] Philipp W (1977) A functional law of the iterated logarithm for empirical distribution functions of weakly dependent random variables. *Ann Probab* 5: 319-350
- [15] Philipp W (1994) Empirical distribution functions and strong approximation theorems for dependent random variables. A problem of Baker in probabilistic number theory. *Trans Amer Math Soc* 345: 705-727
- [16] Salem R, Zygmund A (1954) Some properties of trigonometric series whose terms have random signs. *Acta Math* 91: 245-301

DEPARTMENT OF MATHEMATICS, KOBE UNIVERSITY, ROKKO, KOBE, 657-8501, JAPAN, FUKUYAMA@MATH.KOBE-U.AC.JP